## AN OSCILLATION CRITERION FOR FIRST ORDER LINEAR DELAY DIFFERENTIAL EQUATIONS

### CH. G. PHILOS AND Y. G. SFICAS

ABSTRACT. A new oscillation criterion is given for the delay differential equation  $x'(t) + p(t)x(t - \tau(t)) = 0$ , where  $p, \tau \in C([0, \infty), [0, \infty))$  and the function *T* defined by  $T(t) = t - \tau(t), t \ge 0$  is increasing and such that  $\lim_{t\to\infty} T(t) = \infty$ . This criterion concerns the case where  $\lim_{t\to\infty} \int_{T(t)}^{t} p(s) ds \le \frac{1}{e}$ .

1. Introduction and Statement of the Main Result. The oscillatory behaviour of the solutions of first order linear delay differential equations has been extensively studied in recent years. See, for example, the book by Ladde, Lakshmikantham and Zhang [9] and the recent book by Györi and Ladas [4]. For first order linear non-autonomous delay differential equations, it is an interesting problem to obtain sufficient conditions for the oscillation of all solutions. Among numerous papers dealing with this problem we refer in particular to Elbert and Stavroulakis [1, 2], Erbe and Zhang [3], Koplatadze and Chanturija [5], Kwong [6], Ladas [7], and Ladas, Lakshmikantham and Papadakis [8]. In this paper, a new oscillation criterion is established for first order linear non-autonomous delay differential equations.

Consider the first order linear non-autonomous delay differential equation

(E) 
$$x'(t) + p(t)x(t - \tau(t)) = 0,$$

where *p* and  $\tau$  are nonnegative continuous real-valued functions on the interval  $[0, \infty)$ . It will be supposed that the function *T* defined by

$$T(t) = t - \tau(t), \quad t \ge 0$$

is increasing and such that

$$\lim T(t) = \infty.$$

Let  $t_0 \ge 0$ . By a *solution on*  $[t_0, \infty)$  of the differential equation (E) we mean a continuous real-valued function *x* defined on the interval  $[t_{-1}, \infty)$ , where  $t_{-1} = \min_{t \ge t_0} T(t)$ , which is continuously differentiable on  $[t_0, \infty)$  and satisfies (E) for all  $t \ge t_0$ .

As usual, a solution of (E) is said to be *oscillatory* if it has arbitrarily large zeros, and otherwise the solution is said to be *nonoscillatory*. Equation (E) will be called oscillatory if all its solutions are oscillatory.

AMS subject classification: 34K15.

Key words and phrases: Delay differential equation, oscillation.

207

Received by the editors November 27, 1996.

<sup>©</sup>Canadian Mathematical Society 1998.

Throughout the paper, we will use the notations

$$L = \liminf_{t \to \infty} \int_{T(t)}^{t} p(s) \, ds \quad \text{and} \quad M = \limsup_{t \to \infty} \int_{T(t)}^{t} p(s) \, ds.$$

(Clearly,  $0 \le L \le M \le \infty$ .)

Ladas [7] and Koplatadze and Chanturija [5] established that the differential equation (E) is oscillatory if L > 1/e. (Note that the hypothesis that the function *T* is increasing is not needed for this criterion to hold.) In the autonomous case, *i.e.*, in the case where *p* and  $\tau$  are positive real numbers, the condition L > 1/e becomes  $p\tau e > 1$ and the last condition is also necessary for the oscillation of (E) (see [7]). Moreover, Ladas, Lakshmikantham and Papadakis [8] proved that the condition M > 1 suffices for the oscillation of the differential equation (E).

An interesting problem is to find conditions on *L* and/or *M* which guarantee the oscillation of the differential equation (E), in the case where  $L \leq 1/e$ . Some such conditions have recently obtained by Erbe and Zhang [3], Kwong [6], and Elbert and Stavroulakis [1, 2]. In this paper, we assume that  $L \leq 1/e$  and we present a new sufficient condition (depending on *L* and *M*) for the oscillation of the differential equation (E). Our condition is not complicated.

Our main result is the following theorem.

THEOREM 1.1. Assume that  $L \leq 1/e$ . Equation (E) is oscillatory if

(C) 
$$M + \frac{L^2}{2(1-L)} + \frac{L^2}{2}\lambda_0 > 1,$$

where  $\lambda_0 > 0$  is the smaller real root of the transcendental equation

$$(\star) \qquad \qquad \lambda = e^{L\lambda}.$$

If L = 0, then it is obvious that  $\lambda_0 = 1$  is the unique root of ( $\star$ ). Also, when L = 1/e, we can immediately see that ( $\star$ ) has the the unique real root  $\lambda_0 = e$ . Moreover, if 0 < L < 1/e, then it is not difficult to verify that ( $\star$ ) has two real roots  $\lambda_0$  and  $\lambda_1$  with  $0 < \lambda_0 < e < \lambda_1$ .

Now, an immediate consequence of our theorem is the following result:

Equation (E) is oscillatory in each of the following cases: (i) L = 0 and M > 1, (ii) L = 1/e and  $M > 1 - \frac{1}{2(e-1)}$ , and (iii) 0 < L < 1/e and  $M \ge 1$ .

Kwong [6] established that, if  $0 < L \le 1/e$ , then for any nonoscillatory solution *x* of the differential equation (E) it holds

$$\liminf_{t\to\infty}\frac{x(T(t))}{x(t)}\geq\lambda_0.$$

(Note that the assumption that *T* is increasing is not needed in this result.) This asymptotic result will be used in the proof of our theorem.

https://doi.org/10.4153/CMB-1998-030-3 Published online by Cambridge University Press

Before closing this section, we note that our theorem can be formulated in a more general form as follows:

Assume that  $L \leq 1/e$ . If (C) holds, where  $\lambda_0 > 0$  is the smaller real root of ( $\star$ ), then the differential inequality

$$x'(t) + p(t)x(t - \tau(t)) \le 0$$

has no eventually positive solutions, and the differential inequality

$$x'(t) + p(t)x(t - \tau(t)) \ge 0$$

has no eventually negative solutions.

2. **Proof of the Theorem.** Assume, for the sake of contradiction, that the differential equation (E) has a nonoscillatory solution x on an interval  $[t_0, \infty)$ ,  $t_0 \ge 0$ . Without loss of generality, we can suppose that  $x(t) \ne 0$  for all  $t \ge t_{-1}$ , where  $t_{-1} = \min_{t\ge t_0} T(t)$ . Furthermore, as the negative of a solution of (E) is also a solution of the same equation, we may (and do) assume that x is positive on the interval  $[t_{-1}, \infty)$ . Then from (E) it follows that  $x'(t) \le 0$  for every  $t \ge t_0$  and so x is decreasing on  $[t_0, \infty)$ . In what follows, the fact that x is decreasing on  $[t_0, \infty)$  as well as the increasing character of T (on the interval  $[0, \infty)$ ) will be used without mention.

In the sequel, for convenience, we will assume that inequalities about values of functions are satisfied eventually for all large t. Similarly, it will be supposed that inequalities about terms of sequences are satisfied eventually for all large n.

First of all, let us consider the extreme case where L = 0. Then condition (C) becomes M > 1. On the other hand, from (E) it follows that

$$x(T(t)) = x(t) + \int_{T(t)}^{t} p(s)x(T(s)) ds > x(T(t)) \int_{T(t)}^{t} p(s) ds$$

and so

$$\int_{T(t)}^t p(s)\,ds < 1,$$

which leads to the contradiction  $M \le 1$ . Hence, in the rest of the proof, it will be assumed that L > 0.

Consider three arbitrary real numbers  $\delta$ ,  $\theta$  and  $\gamma$  with

$$0 < \delta < L$$
,  $0 < \theta < M$  and  $0 < \gamma < \lambda_0$ .

Clearly, it holds

(1)

$$\int_{T(t)}^t p(s) \, ds \ge \delta.$$

Moreover, if we choose a sequence  $(t_n)$  of real numbers with  $\lim_{n\to\infty} t_n = \infty$  and such that

$$\lim_{n\to\infty}\int_{T(t_n)}^{t_n}p(s)\,ds=M$$

(such a sequence always exists), then we obviously have

# (2) $\int_{T(t_n)}^{t_n} p(s) \, ds \ge \theta.$

Furthermore, by Lemma 1 in [6],  $\liminf_{t\to\infty} [x(T(t))/x(t)] \ge \lambda_0$  and consequently

(3) 
$$\frac{x(T(t))}{x(t)} \ge \gamma, \quad i.e. \quad x(T(t)) \ge \gamma x(t).$$

Let now *t* be an arbitrary point which is sufficiently large. Consider an arbitrary integer *k* with  $k \ge 2$ . By taking into account (1), we can choose points  $\xi_0, \xi_1, \ldots, \xi_k$  with

$$T(t) = \xi_0 < \xi_1 < \dots < \xi_{k-1} < \xi_k = t$$

and such that

(4) 
$$\int_{\xi_0}^{\xi_1} p(s) \, ds = \dots = \int_{\xi_{k-2}}^{\xi_{k-1}} p(s) \, ds = \frac{\delta}{k} \quad \text{and} \quad \int_{\xi_{k-1}}^{\xi_k} p(s) \, ds < \frac{\delta}{k}$$

Then from (E) it follows that

$$x(T(t)) - x(t) = \int_{T(t)}^{t} p(s)x(T(s)) \, ds = \sum_{\nu=1}^{k} \int_{\xi_{\nu-1}}^{\xi_{\nu}} p(s)x(T(s)) \, ds$$

and so we have

(5) 
$$x(T(t)) - x(t) \ge \sum_{\nu=1}^{k} x(T(\xi_{\nu})) \int_{\xi_{\nu-1}}^{\xi_{\nu}} p(s) \, ds$$

Furthermore, for any  $\nu \in \{1, 2, \dots, k-1\}$ , from (E) we obtain

$$x\big(T(\xi_{\nu})\big) - x\big(T(t)\big) = \int_{T(\xi_{\nu})}^{T(t)} p(s)x\big(T(s)\big)\,ds.$$

Therefore

(6) 
$$x(T(\xi_{\nu})) \ge x(T(t)) + x(T[T(t)]) \int_{T(\xi_{\nu})}^{T(t)} p(s) ds \quad (\nu = 1, 2, \dots, k-1).$$

But, by using (1) and (4), we derive for every  $\nu = 1, 2, \dots, k-1$ 

$$\int_{T(\xi_{\nu})}^{T(t)} p(s) \, ds = \int_{T(\xi_{\nu})}^{\xi_{\nu}} p(s) \, ds - \int_{T(t)}^{\xi_{\nu}} p(s) \, ds$$
  
=  $\int_{T(\xi_{\nu})}^{\xi_{\nu}} p(s) \, ds - \left[ \int_{\xi_{0}}^{\xi_{1}} p(s) \, ds + \dots + \int_{\xi_{\nu-1}}^{\xi_{\nu}} p(s) \, ds \right]$   
 $\geq \delta - \nu \frac{\delta}{k} = (k - \nu) \frac{\delta}{k}.$ 

Thus, (6) gives

(7) 
$$x(T(\xi_{\nu})) \ge x(T(t)) + (k-\nu)\frac{\delta}{k}x(T[T(t)]) \quad (\nu=1,2,\ldots,k-1).$$

Hence, by taking into account (4) and (7), from (5) we obtain

$$\begin{split} x(T(t)) - x(t) &\geq x(T(t)) \int_{\xi_{k-1}}^{t} p(s) \, ds + \sum_{\nu=1}^{k-1} x(T(\xi_{\nu})) \int_{\xi_{\nu-1}}^{\xi_{\nu}} p(s) \, ds \\ &= x(T(t)) \left[ \int_{T(t)}^{t} p(s) \, ds - \int_{\xi_{0}}^{\xi_{1}} p(s) \, ds - \dots - \int_{\xi_{k-2}}^{\xi_{k-1}} p(s) \, ds \right] \\ &+ \sum_{\nu=1}^{k-1} x(T(\xi_{\nu})) \int_{\xi_{\nu-1}}^{\xi_{\nu}} p(s) \, ds \\ &= x(T(t)) \left[ \int_{T(t)}^{t} p(s) \, ds - (k-1) \frac{\delta}{k} \right] + \frac{\delta}{k} \sum_{\nu=1}^{k-1} x(T(\xi_{\nu})) \\ &= \left[ \int_{T(t)}^{t} p(s) \, ds \right] x(T(t)) - (k-1) \frac{\delta}{k} x(T(t)) \\ &+ \frac{\delta}{k} \sum_{\nu=1}^{k-1} x(T(\xi_{\nu})) \\ &\geq \left[ \int_{T(t)}^{t} p(s) \, ds \right] x(T(t)) - (k-1) \frac{\delta}{k} x(T(t)) \\ &+ \frac{\delta}{k} \sum_{\nu=1}^{k-1} \left[ x(T(t)) + (k-\nu) \frac{\delta}{k} x(T[T(t)]) \right] \\ &= \left[ \int_{T(t)}^{t} p(s) \, ds \right] x(T(t)) - (k-1) \frac{\delta}{k} x(T(t)) \\ &+ (k-1) \frac{\delta}{k} x(T(t)) + \left[ \sum_{\nu=1}^{k-1} (k-\nu) \right] \frac{\delta^{2}}{k^{2}} x(T[T(t)]) \end{split}$$

and consequently

$$x(T(t)) - x(t) \ge \left[\int_{T(t)}^{t} p(s) \, ds\right] x(T(t)) + \left(1 - \frac{1}{k}\right) \frac{\delta^2}{2} x(T[T(t)]).$$

But *k* is an arbitrary integer with  $k \ge 2$ . So, as  $k \to \infty$ , we get

(8) 
$$x(T(t)) - x(t) \ge \left[\int_{T(t)}^{t} p(s) \, ds\right] x(T(t)) + \frac{\delta^2}{2} x(T[T(t)]).$$

This inequality holds for all sufficiently large *t*.

Next, in view of (1) and (2), from (8) it follows that

(9) 
$$x(T(t)) - x(t) \ge \delta x(T(t)) + \frac{\delta^2}{2} x(T[T(t)])$$

and

(10) 
$$x(T(t_n)) - x(t_n) \ge \theta x(T(t_n)) + \frac{\delta^2}{2} x(T[T(t_n)]).$$

Because of (3), it holds

$$x(T[T(t_n)]) \ge \gamma x(T(t_n))$$

https://doi.org/10.4153/CMB-1998-030-3 Published online by Cambridge University Press

and so (10) gives

(11) 
$$x(T(t_n)) \ge \theta x(T(t_n)) + x(t_n) + \frac{\delta^2}{2} \gamma x(T(t_n))$$

But, from (9) we obtain

$$x(T(t)) \ge \delta x(T(t)) + \frac{\delta^2}{2}x(T[T(t)]),$$

i.e.,

$$x(T(t)) \geq \frac{\delta^2}{2(1-\delta)}x(T[T(t)]).$$

This yields

(12) 
$$x(t) \ge \frac{\delta^2}{2(1-\delta)} x(T(t))$$

(Note that  $1 - \delta > 0$ .) By using (12), from (11) we derive

$$x(T(t_n)) \geq \theta x(T(t_n)) + \frac{\delta^2}{2(1-\delta)} x(T(t_n)) + \frac{\delta^2}{2} \gamma x(T(t_n))$$
$$= \left[\theta + \frac{\delta^2}{2(1-\delta)} + \frac{\delta^2}{2} \gamma\right] x(T(t_n))$$

and consequently we must have

(13) 
$$\theta + \frac{\delta^2}{2(1-\delta)} + \frac{\delta^2}{2}\gamma \le 1.$$

We have thus proved that (13) is satisfied for all real numbers  $\delta$ ,  $\theta$  and  $\gamma$  with  $\delta \in (0, L)$ ,  $\theta \in (0, M)$  and  $\gamma \in (0, \lambda_0)$ . As  $\delta \to L - 0$ ,  $\theta \to M - 0$  and  $\gamma \to \lambda_0 - 0$ , (13) gives

$$M + \frac{L^2}{2(1-L)} + \frac{L^2}{2}\lambda_0 \le 1,$$

which contradicts condition (C). (Note that L < 1.)

The proof of the theorem is complete.

#### REFERENCES

- Á. Elbert and I. P. Stavroulakis, Oscillations of first order differential equations with deviating arguments. World Sci. Ser. Appl. Anal., Vol. 1, 163–178. World Sci. Publishing, Teaneck, NJ, 1992.
- Oscillation and nonoscillation criteria for delay differential equations. Proc. Amer. Math. Soc. 123(1995), 1503–1510.
- 3. L. H. Erbe and B. G. Zhang, Oscillation for first order linear differential equations with deviating arguments. Differential Integral Equations 1(1988), 305–314.
- 4. I. Györi and G. Ladas, Oscillation Theory of Delay Differential Equations With Applications. Clarendon Press, Oxford, 1991.
- 5. R.G. Koplatadze and T.A. Chanturija, On the oscillatory and monotone solutions of first order differential equations with deviating arguments. (Russian) Differential'nye Uravneniya 18(1982), 1463–1465.
- 6. M. K. Kwong, Oscillation of first-order delay equations. J. Math. Anal. Appl. 156(1991), 274–286.

212

### OSCILLATION OF DELAY EQUATIONS

- 7. G. Ladas, Sharp conditions for oscillations caused by delays. Appl. Anal. 9(1979), 93–98.
- **8.** G. Ladas, V. Lakshmikantham and J. S. Papadakis, *Oscillations of higher-order retarded differential equations generated by the retarded argument*. In: Delay and Functional Differential Equations and their Applications. Academic Press, New York, 1972, 219–231.
- 9. G. S. Ladde, V. Lakshmikantham and B. G. Zhang, Oscillation Theory of Differential Equations with Deviating Arguments. Marcel Dekker, Inc., New York, 1987.

Department of Mathematics University of Ioannina P.O. Box 1186 451 10 Ioannina Greece